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Section-A

v
I, The number /> s -

(A)  an even number

(B) 4 rational Numher

(C) an hTuﬁunalluunher

(D)  None of these
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[

Sum : .
of zeroes of the quadratic polynomial x* + 7x + 10 is :

(A) 7
B) 19
© 7
(D)

None of these

3. The 11th term of an AP. 3 3 3 3

RIS P
(A) 0
(B) 3
(Cy 133

(D) None of these
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. 21 0) is :
Distance between the points (0, 3) and (
s

(A) ﬁ
B) i3
(&) N3

(D') None of these

Circumference of a circle with radius ¢, s

(A) qnr

(B) 25,

) 3,

..?J,.I'-"" e &



(4)

6. Kx+ 2v =5 and 3x + v = 1, has a unique solution if :

€ K # 6

[D} None of these

-

7. How many tangents can a circle have ?
(A) 1
1B)r Infinite
€ 2
(D) None of these
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( 5 )

8.‘9 A card is drawn from a pack of 52 cards. What is the probability

of getuing 2 King of red colour ?

(A) 3
8 1
(B) 5
s |

(C) 26

(D) None of these
9 1 + tan® O is equal t0 -
(A) cosec> O
[ ]
(B) sec? B
(C) -sect B

(D) WNone of these
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( 6 )
‘ . at} 2+ by +c=0,
10. The sum of the foots of the quadratic equation ax :
a#(js:
(A) =
a
b
(B) --
a
b
(C) -
a

1[)_) None of (hese

1. : H.CF. of two consecutive even numbers iy 2

.................

(Fill ip the blank)

12. “The sum of first five multiples of 3 is 45,

(Tru‘efFulsc)

Or

= a+ (n+ Ddis the mh term of g0 AP, serigg X
a, =a+{ (True/False)
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(7))

13. cosec® - cot20 = 1. (True/False)

[ . g ‘e o
14. Al circles of different radii arc ..ee (CnngmcnllSumlarl

€ IS reevererennrnne to the radius

15. The tangent at any point of a circl

through the point of contact. (Fill in the hlank)

16. Define Section Formula.

Or

Define Abscissa of a point.
7. State Pythagoras Theorem.

18, Define Angle of Depression.

I‘L-

19. What is the probahility of impossible event
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Write the formula for volume of 3 cylinder.

Section-B

29

cach

Find the LCM. of 26 and 91.

0

') . .t —— . - v - * "

22. A drinking glass is in (he shape of frustum of , tone of heighy
4 cm. The diameters IS twy circular engs are 4 em und cm
Find (he Capacity of (pe glass,

0

23

Solve the Pair of lipeyr cquationy

2y + 3_\' = 1]

by substitution methog.
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(9)

[
74. Given 15 cotA = 8. find sin A and sec A.

Or

Evaluate :
o 2 o ~ed 1010 : 2 o
7 tan- 45° + cos 30° - sin-60

A bag contains 3 red balls and § black balls. A ball is drawn at

random from the bag. What is the probability that the ball drawn is :

(i) red ?

(i) not red ?

6. A class teacher has the following absentce record of 40 students of

a class for the whole term. Find the mecan qumber of days a student

wis absent :
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Number of Days Number mnts o

06 I

o-10 10

10-14 ,

14-20 .

20-23 ,

28-38 :

38-40
T | !

\\
Sectiun..c T
2?'9 Obtain all g1he; 7eroes of 34 | 6t 5 e
R (T S i two of

Is Zeroes arc J; and _\/E
- 3 )

XARJKUT23—9303-Y

A-3-Y



Or

Find a quadratic polynomial, the sum and product of whose zerocs

are 2 and % respectively.

. : 1 . .
78. A fraction becomes — when ) is subtracted from the numerator and

| . . . . .
it becomes I when 8 is added to its denominator. Find the fracuon.

39, Find the roots of the quadratic equation 2x* + x = 6 = 0 by

factorization.

[
30. Find the 31st term of an A.P. whose {1th term is 38 and the [6th

term 1s 73

Or

Find the sum of the first 13 multiples of 8.

XAR] — '
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( 12 )

: : : ' in terms of sec A,
31. Write all the other trigonometric ratios of ZA in

(ol
it |

: al point to
Prove that the lengths of langents drawn from an external |

a circle are equal.

Or

The length of 4 tangent from g point A at distance 5 cm from the

cenre of the cir¢le ts 4 cm.

Find the radius of he cirele,

33*

34, How muny silver coiny, L75 em in diumeter and of thickness 2 mm,

must be melted to formac¢
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)
35.

Section-D 4 each

A train travels 160 km at a uniform speed. If the speed had been
5 km/M more, it would have taken 1 hour less for the same joumcy.
Find the speed of the train.

Or

Find the roots of 42 + 3v + § = 0 by the method of completing

the square.

'
36. The angles of elevation of the top of a tower from twa points at
4 distance of 4m and 9m from the hase of the lower and in the
came straight ling with il are complementary, Prove that the height
of the tower 15 6m.
XARJ — -
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( 14 )

37. Find he area of the quadrilateral whose vertices taken in order, re

(=4, -2), (-3, -5), (3, =2) and (2. 3).

If A and B 3 (=2, -2) and (2. ). respectively, find (he

coordinates of p such that AP=%AB and P lies on the line

s¢gment AB.

38. Prove that the line Joining the mid-points of any two sides of

tnangle is parallel to the third side.

Or

In an equilateral triangle, prove that three fimeg the square of one

side is equal to four times the Square of one of jig altitudes
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. Draw & pair of langents  a circle of radius 5 em which are inclined

o euch other at an angle of 60°.

If the median of the distribution given below is 28.5, find the valucs

0.
of y and v !
P
Class Interval Frequency
0-10 5
| 1 (=20 Ry
20-30 20
30-40 15
40-50 Al
| 50-60 S
i — —
Total 60
—_‘_‘-—'-“—-—-—_
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